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LO: To calculate multi-step word problems


	Bronze Challenge – Fluency
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	Silver Challenge – Reasoning
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	Gold Challenge – Problem Solving
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There are 15,600 people at a concert.
There are 9,050 adults.
The rest are children.

How many more adults than children are there?
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A milkman has 250 bottles of milk.

He collects another 160 from the dairy,
and delivers 375 during the day.

How many does he have left?
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Eva is reading a book before bedtime.

On Monday she reads 38 pages.

On Tuesday she reads 6 pages more than she did on Monday.
a) How many pages does she read on Tuesday?

b) How many pages does she read altogether on Monday and Tuesday?

c) There are 123 pages in the book altogether.

How many pages does Eva have left to read?
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Jack, Whitney and Amir are counting their sticker collections.

I have twice
as many stickers

©® as Whitney.

I have 100
stickers fewer than
Whitney.

They have 900 stickers altogether.

How many stickers do they each have?

Jack
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Two numbers have a difference of 1,200 and a total of 6,484

What are the two numbers?
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A supermarket sells three types of juice. Use the following
clues to find the total number of bottles of juice the
supermarket sells in a week:

» The supermarket sells 846 more bottles of orange juice than
apple juice.

« It sells 118 more bottles of apple juice than peach juice.

« It sells 656 bottles of apple juice.




